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$$

C.i=\{z; lz-a_{ii}| \le

\sum_{\substack{j=1\\ j\neq i}}"n la_{ij}I\}\quad (i=1,2,\dots, n)
$3

Oo00ooooooosas0ooooooooo

$S=\bigcup_{i=1}"n C_i$0 000 00

oo 9.2

\begin{alignx}

\int_{\frac{1}{n}}"1 r\log r"2 dr&=

\Bigl[\frac{1}{2}r"2\log r~2\Bigr] _{\frac{1}{n}}"1
“\int_{\frac{1}{n}} " 1\frac{1}{2}r"2\frac{2r}{r"2}dr \\
&=-\frac{1}{2n "2\ log\frac{1}{n"2}-\int_{\frac{1}{n}}"1 r dr
=-\frac{1}{2n"2}\log\frac{1}{n"2}

-\Bigl[\frac{1}{2}r"2\Bigr] _{\frac{1}{n}}"1\\

&=-\frac{1}{2n "2\ log\frac{1}{n"2}-\Bigl (\frac{1}{2}-\frac{1}{2n"2}\Bigr)
\end{alignx*}

oo 9.3

IEEE7540 000 0000D0O0OO0OOOO0ODOO

0000 (doubleD) O 0ODOO$(1+2°{-63}+2"{-54})$
gooboooboooooon

\begin{multlinex*}

1+2°{-53}+2"{-54}

= \Bigl (\frac{1}{2}+\frac{0}{2"2}+\cdots +\frac{0}{2"{53}}
\Bigr)\times 2 +

\Bigl(

\frac{1}{2}+\frac{0}{2"2}+\cdots + \frac{0}{2°{53}}
\Bigr)\times 2~ {-52}\\

\shoveright{

+\Bigl (\frac{1}{2}+\frac{0}{2"2}+\cdots + \frac{0}{2"{53}}
\Bigr)\times 2"{-53}}\\

=\Bigl(

\frac{1}{2}+\frac{0}{2"2}+\cdots \frac{0}{2"{63}}+\frac{1}{2"{54}}
+\frac{1}{2"°{55}}\Bigr)\times 2

\end{multlinex*}

O000O$t=5380000

$\frac{1}{2"{65}}$0 000000

$\frac{1}{2°{54}}$0 0000 (DOOCOOOO)
gooogooboooooogon

$$1+u=\Bigl (\frac{1}{2}+\frac{0}{2"2}+\cdots + \frac{1}{2°{53}}\Bigr)
\times 2 = 1+2°{-52}

$$

good



